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c k'lhut vr{ cGt/utsf sfo{qmd

*=#=!=% ljh'nL kf]n vl/b ;+Vof 15 5.0

*=%=!=$* vfg]kfgL kfOk dd{t tyf ;'wf/ k6s 1 3.70
kmd{ l;+rfO{sf] nflu l/he{ 6\ofªsL lgdf{0f 

tyf kfOk lj:tf/

k6s

1 5.00

sfof{no, 5fqfaf;, sd{rf/L cfjf;, u]i6 

xfp;, zf}}rfnosf] 5fgf,em\ofn, tyf 6fon 

dd{t 

k6s

1 2.70

Nofa ;fdu|Lx? vl/b k6s 1 5.00
k'Flhut hDdf 19 21.40 0 0.0 0 0.0

cf rfn' vr{ cGt/utsf sfo{qmdx?

!=!=!=$ /f=k|=b\ljtLo -k|f_-:yfoL sd{rf/L_ 21111 hgf 1 4.98 1.66 1.66 1.66
!=!=!=^ /f=k|=t[tLo -k|f_-:yfoL sd{rf/L_ 21111 hgf 3 14.12 4.71 4.71 4.71
!=!=!=* /f=k|=cg+= k|yd -k|_-:yfoL sd{rf/L_ 21111 hgf 1 3.45 1.15 1.15 1.15
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sfo{qmd÷ lqmofsnfk PsfO{

cfof]hgfsf] s'n 

lqmofsnfk

;Dk'0f{ sfo{ dWo] ut 

cf=a=;Ddsf]

vr{ zLif{s

cg';"lr –* -s_

k|:tfljt aflif{s sfo{qmd

/sd ?= nfvdf

@=ah]6 lzif{s g+ #!@!!#–#÷$

# d+qfnosf] gfdM s[lif ljsf;

^=:yfgM uf]bfj/L, nlntk'/

&=cfof]hgf z'? x'g] ldlt M @)&$÷$÷!

*=cfof]hgf k'/f x'g] ldltM ;fna;fnL

(=cfof]hgf sfof{no k|d'vsf] gfd M tLy{s'df/ >]i7

                               

-@_ cg'bfg M

!=cf=j= @)&$÷)&% 359.08

        -v_ a}b]lzs    -!_ C0f M
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!=!=!=( /f=k|=cg+= k|yd -k|f_-:yfoL sd{rf/L_ 21111 hgf 4 14.00 4.67 4.67 4.67
!=!=!=!! /f=k cg+=b\\ljtLo -k|_-:yfoL sd{rf/L_ 21111 hgf 1 3.10 1.03 1.03 1.03
!=!=!=!@ /f=k cg+=b\\ljtLo -k|f_-:yfoL sd{rf/L_ 21111 hgf 3 9.40 3.13 3.13 3.13
!=!=!=!* sf=;= k|yd >]0fL _-:yfoL sd{rf/L_ 21111 hgf 4 12.40 4.13 4.13 4.13
!=!=!=@& x=;=rf= kfFrf} >f]0fL -:yfoL sd{rf/L_ 21111 hgf 1 3.10 1.03 1.03 1.03
!=!=!=&# 6fOlki6 -P $_ :yfoL sd{rf/L 21111 hgf 1 3.10 1.03 1.03 1.03
!=@=@=! dx+uL eQf -dx+uL eQf_ 22113 ;+Vof 20 2.40 0.80 0.80 0.80
!=@=$=$ v/Lb ;ldtL nufot sfof{nodf x'g] cGo 

a}7s eQfx?
22119

k6s

3 0.15

 !=@=*=@ kfn] kx/fsf nfuL eQf -cGo_ 21119 hgf 2 0.25
 !=#=!=! kbflwsf/L Pj+ lghfdtL sd{rf/L -kbflwsf/L 

Pj+ lghfdtL_
21121

;+Vof

23 1.75

 @=!=!=! wf/f dxz'n -wf/fsf] dxz'n_ 22111 dlxgf 12 0.10

 @=!=@=! lah'nL dxz'n -lah'nL dxz'n_ 22111 dlxgf 12 2.00
 @=!=#=@ hf/sf] lkpg] kfgL -lkpg] kfgL_ 22111 j6f 12 0.29
 @=@=!=! 6]lnkmf]g dxz'n -6]lnkmf]g dxz'n_ 22112 dlxgf 12 0.75
 @=@=!=! O{d]n, OG6/g]6, j]a;fO6 cWofjlws ug{ -

O{d]n, OG6/g]6, j]a;fO6_
22112

dlxgf

12 0.60

@=$=!=! df]6/;fOsnsf] nflu k]6«f]n 22112 ln6/ 600 0.60
@=$=!=@ uf8Lsf] nflu l8hn -sfof{nosf] OGwg_ 22112 ln6/ 2700 2.20
@=$=!=!^ 6«ofS6/ -sfof{nosf] OGwg_ 22112 j6f 370 0.32
@=%=!=! rf/ kfª\u|] ;jf/L ;fwg dd{t 22212 ;+Vof 1 3.50
@=%=!=@ b'O{ kfª\u|] ;jf/L ;fwg dd{t -;jf/L ;fwg 

dd{t_
22212

;+Vof

3 0.60

@=%=!=^ kmlg{r/ dd{t -;jf/L ;fwg dd{t_ 22212 k6s 10 0.10
@=%=!=& d]lzg/L pks/0f dd{t -;jf/L ;fwg dd{t_

22212
k6s

3 0.9

@=%=@=$ kmf]6f]skL d]lzg dd{t -d]lzg/L pks/0f 

dd{t_
22212

k6s

1 0.25

@=^=%=@ ;jf/L ;fwgx?sf] t]>f] kIfsf] ljdf -cGo 

ljdf t]>f]_
22213

;+Vof

4 0.30

@=&=!=! sfof{no d;nGb ;fdfg vr{ -sfof{no 

d;nGb_
22311

k6s
3 1.5

@=&=!=!) 6f]g/ tyf d;L             -sfof{no 

d;nGb ;fdfg vr{_
22311

k6s

3 0.24

@=&=@=! 5kfO vr{ -5kfO vr{_ 22311 k6s 2 0.40

@=&=@=^ x'nfs tyf s'/Lo;{ ;]jf -5kfO vr{_ 22311 k6s 12 0.12



@=&=#=! kqklqsf tyf k'l:tsf vl/b -kqklqsf tyf 

k'l:tsf_
22311

dlxgf
12 0.24

@=%=&=! lj1fkg tyf ;"rgf k|sfzg - lj1fkg tyf 

;"rgf_
22311

Kf6s

2 0.50

@=!)=!=* 6«ofS6/sf nflu OGwg -OGwg cGo k|of]hg_
22314

nL6/

400 0.40

@=!)=!=!) 8«fO;]n Aofl6«  OGwg -OGwg cGo k|of]hg_ 22314 j6f 60 0.06
@=!)=!=!@ UofF; l/lkmn  OGwg -OGwg cGo k|of]hg_ 22314 ;+Vof 24 0.36
@=!#=!=! sfof{no ;xof]uL -JolQm s/f/_ 22412 hgf 4 5.85
@=!#=!=! sDKo'6/ ck/]6/ s/f/ 22412 hgf 1 2.45
@=!#=!=! ;jf/L rfns -JolQm s/f/_ 22412 hgf 1 1.95
@=!%=!=@@ lzk ljsf; / hgr]tgf cfof]hgf k6s

@=!%=!=@@ cfwf/e't df}/Lkfng s[ifs tfnLd & lbg] -

s[ifs :t/_
22512

Kf6s
6 18.90

@=!%=!=@@ dlxnf, blnt,cflbjf;L, hghftL nlIft 

df}/Lkfng tflnd
22512

;+Vof

2 6.20

u'0f:t/ dx ;DaGwL s[ifs:t/ tfnLd & lbg]

22512
;+Vof

3 9.00

k|f=;=÷gf=k|f=;= :tl/o cfwf/e't df}/Lkfng 

tflnd
22512

;+Vof
3 3.60

@=!%=!=@@=

(

df}/L3f/ lgdf{0f l;sdL{ tfnLd 22512 Kf6s 2 10.00
s[lif k|ljlwsx?nfO{ TOT Training !@ sfo{ 

lbgsf] -Ps k|b]zdf Pp6f_

k6s

7 45.50

Dff}/Lkfng / dx ;DaGwL hgr]tgfd'ns 

;Gb]z k|;f/0f -l6=le= Pkm=Pd af6_

Kf6s

3 1.05

@=!%=!&=! ;]jf 6]jf cfof]hgf Kf6s

dfO6 Joj:yfkg cleofg 22522 Kf6s 10 7.00
EFB dfO6 Joj:yfkg cleofg 22522 Kf6s 10 9.00

lj lSnlgs ;~rfng 22522 Kf6s 3 1.10
df}/Ldf cfO lk= Pd= ;~rfng 2 2.00
df}/Lkfng k|fljlws k'l:tsf k|sfzg tyf 

ljt/0f

;+Vof

200 2.50

df}/L ;fdu|L ljt/0f -uf]nf dha'tkg dfkg 

ug{] ;fdu|L_
22522 200 3.00

Joj;flos df}/Lkfngs s[ifs÷ ;d'xx?nfO{ 

;xof]u sfo{qmd

k|lts'n df};ddf s[ltd cfxf/fdf %) k|ltzt 

cg'bfg 9'jfgL ;lxt
22522 ls=u|f= 4000 1.80



df}/L uf]nf :yfgfGt/0fdf %) k|ltzt cg'bfg

22522 uf]nf 1000 3.00

Joj;flos df}/Lkfngs s[ifsx?nfO{ &% 

k|ltztdf d'No cg'bfgdf l/km\nOfS6f]ld6/ 

ljt/0f

22522 ;+Vof 50 2.50

Joj;flos df}/Lkfngs s[ifsx?nfO{ %) 

k|ltztdf d'No cg'bfgdf dx dbfgL ljt/0f 22522 ;+Vof 25 1.90

Joj;flos df}/Lkfngs s[ifsx?nfO{ %) 

k|ltztdf d'No cg'bfgdf cfwf/ rfsf 

ljt/0f

22522 ls=u|f= 200 1.60

Joj;flos df}/Lkfngs s[ifsx?nfO{ %) 

k|ltztdf d'No cg'bfgdf k|]z d]lzg ljt/0f 22522 ;+Vof 25 1.00

df}/Lkfng ;DalGw k'/:sf/ ljt/0f 22522 ;+Vof 6 0.45
;d:of b]vf k/]sf ks]6 If]qdf @ lbg] 3'DtL 

tflnd ;~rfng
22522

k6s

7 2.70

hf}ljs ljljwtf ;+/If0f tyf r/g ljsf; 

sfo{qmd

@=!%=!&=!# lrp/L g;{/L :yfkgf ;+Vof

30000 10.00

@=!%=!&=!# df}/L r/g kfqf] lgdf{0f

1.00

@=!%=!&=!# df}/L r/g gS;fª\sg tof/ @ j6f k|b]zdf ;+Vof

2 4.00

df}/LhGo r/g jf]6lj?jf ljt/0f 9'jfgL ;lxt 

!)) k|ltzt d'No cg'bfgdf

Kf6s

3 3.60

tf]/L jfnLdf k/fu;]rg k|b{zg sfo{qmd k6s 2 3.40

@=!%=!&=! kmd{ Joj:yfkg cfof]hgf

@=!%=!&=!

&

kmd{ Joj:kfkgsf] nflu sDkf]i6 dn vl/b
22521

Kf6s

3 1.50

cNksflng km"nsf] lap tyf lj?jf vl/b 22521 Kf6s 3 0.60
d}g vl/b 22521 Kf6s 3 0.30
s[ltd cfxf/f vl/b 22521 Kf6s 3 0.60
HofdL Hofnf -Hofnf vr{_ 22521 Hfgf 2400 9.60
HofdLx?nfO{ uDa'6, /]gsf]6 tyf slif 

;fdu|Lx? vl/b
22521

k6s

1 1.00



kmd{ s]Gb|df dx pTkfbg ls=u|f= 50
@=!%=!&=! k|ljlw ljsf; cfof]hgf j6f

@=!%=!&=!

%

:j:y /fg' pTkfbg tyf ljt/0f
22522

;+Vof

500 6.25

@=!%=!&=!

%

/}yfg] df}/L ;+/If0f tyf k/Dk/fut 3f/df 

;'wf/ -d'9] 3f/ ;'wf/ sfo{qmd_
22522 ;+Vof 1000 10.00

s[ifs÷>f]ts]Gb|af6 df}/LhGo ;x pTkfbg -

d}g_ vl/b    
k6s 3 1.50

k/Dk/fut 3f/af6 cfw'lgs 3f/df df}/L ;fg{] 

tl/sf k|bz{g sfo{qmd
k6s 5 2.75

k|uf]uzfnf ;~rfng 22522 1.00
df}/L >f]ts]Gb| ljsf; cfof]hgf

@=!^=#=! gofF >f]ts]Gb| :yfkgfsf] nflu ;DEofJotf 

cWoog
22522

Kf6s

6 1.20

>f]t s]Gb| :ynut df}/Lkfng tflnd 22512 Kf6s 6 23.4
>f]ts]Gb| :yfkgf / %) k|ltztdf d'No 

cg'bfgdf 3f/ uf]nf tyf ;fdu|L ljt/0f

>f]ts]Gb| k'g{tfhuL tflnd & lbg]

tflnd tyf Ifdtf clej[l4 sfo{qmd

k|f=;=÷gf=k|f=;= ;]jfsflng tflnd Hfgf 2 0.60

k|of]uzfnf ;~rfng tflnd             -

sd{rf/LnfO{_

Hfgf

1 1.00

@=!(=!=!) sfo{qmdsf] cg'udg u/L k|ltj]bg k]z ug{] -

cg'udg d'Nofª\sg_

Kf6s

40 6.00

@=!(=!=#& cfsl:ds cg'udg -cg'udg, d'Nofª\sg tyf 

sfo{qmd_

Kf6s

40 6.00

@=!(=!=$@ sfo{qmd ;~rflnt lhNnfx?sf] cg'udg tyf 

k|ltj]bg -cg'udg_

Kf6s

40 6.00

@=!(=@=@ ;?jf eP/ hfFbfsf] e|d0f vr{ -cflGt/Ls 

e|d0f_

;+Vof

2 0.60

@=@)=@=@ sfof{nodf b}lgs lrof vr{ tyf cltyL 

;Tsf/ Pj+ hnkfg - cltyL ;Tsf/ tyf 

hnkfg ef]h vr{_

k6s

12 0.80

rfn' vr{ sfo{qmdsf] hDdf 337.68
s'n hDdf 359.08

2.40222512

;+Vof


